

Remember, if the denominators are the same just add or subtract the numerator. If the denominators are different, multiply **one** denominator by a number to get the same denominator. Just like we did when we added fractions with different denominators.

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$

$$\frac{\quad}{\quad} - \frac{\quad}{\quad} =$$